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HKFHH B {7 gy |PoE4A 8E] $H5%5A0A [fokosz Al Siokr A 10A] SRS A 1H] SHsEe Az E] SHst 108 10a ] Sist 0831 A] $To% 12 19| $H6% | A20E] 6a2A 6] HHeEsA20m
EKEZ — (51@1'”5) 10:00 9:54 10:28 9:05 10:21 10:42 9:25 9:10 9:53 9:56 10:05 9:57
KB °C =18 18.3 17.7 225 24.0 26.2 26.1 23.8 21.2 14.7 12.1 11.0 13.8
— i E 18/ml 100 0 0 0 0 0 0 0 0 0 0 0 0
N — |mHEnmnce PN T TR T TR T TR TR TR TR T TR
BEUVZDIEEY mg/L|  0.01 <0.001 <0.001 <0.001 <0.001
ANEIOLEEY  |me/L|  0.02 <0.001 <0.001 <0.001 <0.001
T AEMAXVRE | Al oo <0.001 <0.001 <0.001 <0.001
e me/L 0.6 <0.05 <0.05 0.05 <0.05
HO0OEER meg/L|  0.02 <0.002 <0.002 <0.002 <0.002
sookiLLs meg/L|  0.06 0.013 0.012 0.018 0.010
CHOOER mg/L|  0.03 0.009 0.005 0.009 0.006
<JOoE/O0024> |me/L 0.1 0.002 0.001 0.002 0.004
REER mg/L|  0.01 <0.001 <0.001 <0.001 <0.001
LR AOARY meg/L 0.1 0.022 0.018 0.028 0.022
) OOEEE: mg/L|  0.03 0.010 0.013 0.013 0.008
JOECH/O0aA4> |meg/L|  0.03 0.007 0.005 0.008 0.008
KJOEHRILL meg/L|  0.09 <0.001 <0.001 <0.001 <0.001
BIRILLTILTER meg/L|  0.08 <0.005 <0.005 <0.005 <0.005
FHEIRBRUVZDIEESY [me/L 1 <0.004 <0.004 <0.004 <0.004
4@17':’%"%—'7/"&”%0) me/l| 02 0.018 0.011 0.028 0.025
HEVZDIEEY meg/L 0.3 <0.01 <0.01 <0.01 <0.01
RARUVZFDIEEY meg/L 1 0.002 0.002 0.002 0.002
RUAVRUVEDIES Y| me/L|  0.05 <0.001 <0.001 <0.001 <0.001
Bl A4 mg/L 200 16 13 9 10 10 9 9 25 23 24 24 14
AREZREY me/L 500 124 77 78 213
I AIY ng/L 10 2 A A A A 2 1 1
2-AF ILAIRILFA—)L [ng/L 10 A A A A A A 4 A
ﬁ j)%c)%o()é%? EEs meg/L 3 0.9 0.8 0.7 0.6 0.5 0.9 0.8 1.3 1.3 15 14 0.8
pHIE — | 5.8~86 7.4 7.4 7.3 7.1 7.1 7.4 7.4 75 7.4 7.4 7.3 7.3
R — [Bgonunce| EBEgal| BEEggl| BEEgL] BE4L| BRE4L| BER4L] 2Exal] Eual] mEal] BExal| Bgal| BEwgal
BER — [Bgonnce| BEgal| BEggl| BEEgl] Beggl| BE4gL] BERalL]  2Exal] mEal] mEal] =mxal| Bgal| BEwal
BE E 5 <05 <05 <05 <05 <05 <0.5 <05 <05 0.7 <05 <05 <05
AE E 2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 01Kl E 0.6 0.6 0.6 0.7 0.6 0.5 0.7 0.4 0.6 0.6 0.5 0.6
e8| 5% Bt o R meg/L 20 6 5 4 9
BIR X 5EE(TON) — 3 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
e o . " —I*ETEMJ%t
NERMEGUTITHER)| — b,:l’;@gw':ﬁ -1.1 -1.8 -1.3 -0.7
i)
HEEXEMER f8/m| 2000 0 1 1 0
z FILHE mg/L — 53 27 36 101
D ERmERE 1S/om — 181 157 110 103 88 114 112 338 322 335 314 189
ﬁﬁmwru»rz“p mg/L — 18 12 14 34
LNRBRIEE260) | — — 0.014 0.013 0.011 0.010 0.007 0.013 0.012 0.017 0.018 0.017 0.017 0.012




